EVANS TRIES O LEVEL  -  3

1. What did the Detective Superintendent inform the Governor about Evans?
2. Who was Carter? What did the Governor ask him to do?
3. How did the Governor react to the two phone calls he received in quick succession?
4. How did the question paper and the correction slip help the prisoner and the Governor?
5. Why did Evans not take off his hat when Jackson ordered him to do so?
6. How does McLeery explain the presence of a small semi-inflated rubber ring? What did it actually contain?
7. What clues did the answer sheet of Evans provide to the Governor?
8. How did Evans outwit the Governor in the end?
9. Who do you think has outwitted the other-Evans or the Governor? How 

Long Questions
Question 1 : Describe the precautions taken by the prison officers to prevent Evans from escaping.
Question 2 : How did the negligence of the prison officers prove to be a boon for Evans?
Question 3 : Give a character sketch of the Governor of Oxford Prison based on your understanding of the story, ‘Evans Ties an O-level’..
Question 4 : How was the injured McLeery able to befool the prison officers?
Question 5 : What purpose did the question paper and the correction slip serve? How did they help both the criminals and the Governor?
Question 6 : In spite of the precautions taken by the Governor, Evans was able to escape. How do you think he was able to do it?
Value Based Question
Question 1 : When Stephen comes back to the cell he jumps to a conclusion and the whole machinery blindly goes by his assumption without even checking the identity of the injured ‘McLeery’. Does this show how hasty conjectures can prevent one from seeing the obvious? How is the criminal able to predict such negligence?
Question 2 : While we condemn the crime, we are sympathetic to the criminal. Is this the reason why prison staff often develop a soft corner for those in custody?
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